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A1
English
Direction (Q. No. 1 to 5)
Read the passage carefully and choose the

best answer to each question out of the four
alternatives.

Earth is the only planet so far known with the
suitable environment for sustaining life. Land,
water, air, plants and animals are the major
components of the global environment.
Population, food and energy are the three
fundamental problems facing mankind.
Unemployment, inflation, crowding, dwindling
resources and pollution are all due to the factors
like increasing population, high standard of
living, deforestation, etc.
Man has been tampering with the Ecosphere
for a very long time and is forced to recognize
that environmental resources are scarce.
Environmental problems are really social
problems. They begin with people as cause
and end with people as victims. Unplanned
use of resources has resulted in the depletion
of fossils, fuels, pollution of air and water,
deforestation, which has resulted in ecological
imbalance and draining away of national wealth
through heavy expenditure on oil and power
generation.
1. Increasing population causes :

(A) unemployment and crowding

(B) inflation and pollution

(C) dwindling resources

(D) unemployment, inflation, crowding,

dwindling resources and pollution
2. National wealth is drained away by

spending heavily on :

(A) power generation

(B) fuels

(C) water and power generation

(D) oil and power generation

3. The three major components of the global
environment are :

(A) food, energy and population
(B) high standard of living, crowding and
inflation

(C) land, water and air
(D) plants, animals and mankind

e de -1

10.

Depletion of fossils and fuels, pollution
of air and water and deforestation will
never occur in case of

(A) improper use of resources
(B) planned use of resources
(C) unplanned use of resources
(D) over use of resources

We face the three fundamental problems
that are :

(A) inflation, deforestation and unemp-
loyment

(B) population, deforestation and energy
(C) population, inflation and food
(D) population, food and energy

Select correct preposition from the
choice to fill in blank.

Kareena is totally satistied............ her
salary.

(A) for (B) with

(C) of (D) at

Rearrange the parts of the sentence in
cotrect order.

It requires :

P : a voluntary effort and

Q : participation of one and all

R : struggle involving the

(A) PQR (B) RQP

(C) RPQ (D) QPR

Select the alternative which is the best
substitute of the phrase/given words.

Loss of sleep :
(A) Hypertonia
(B) Insomnia
(C) Urania

(D) Dipsomania

Select the synonym of the given word.

Imprudent :
(A) Cautious (B) Careless
(C) Wise (D) Discreet

Select the one which is opposite in
meaning of the given word.

Premium :
(A) Superior
(C) Choice

(B) Inferior
(D) Excellent

Direction (Q. No. 11 to 15)

Choose the correct alternative and fill in the
blanks in the following sentence.

1. is my favourite subject.
(A) Physique (B) Physic
(C) Physics (D) A Physics
12. The members of a community should
love ..o .
(A) Each other
(B) Eachone
(C) One another
(D) Each another

13. He is the friend ............... I trust most.
(A) him (B) whom
(C) which (D) who

14. During winter evenings, a cup of coffee
1S vviiiirenn, to mug of tea.
(A) preter

(B) more prefer
(C) preferable
(D) more preferable

15. The priest was innocent ................. he
could not prove it.
(A) and (B) but
(C) for (D) so

16. She is too weak to walk (Choose with-
out too)

(A) She is so weak that she cannot walk
(B) She is weak but can walk

(C) She is not weak to walk

(D) None of the above

Direction (Q. No. 17 and 18)

Find the error in each of the following sen-
tences. If there is no error, your answer is ‘D’

17. If you will work hard (A)/you will
always (B)/succeed. (C)/No error (D).

18. Coward dies (A)/ several times (B)/ the
braves die but once. (C)/ No Error (D).

19. Change the following sentence into
indirect narration.

Socrates said, “Virtue has its own
reward.”

(A) Socrates said that virtue had its own
reward.

(B) Socrates say that virtue is its own
reward.
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(C) Socrates said that virtue has its own
reward.

(D) Socrates said that virtue was its own
reward.

Change the following sentence into
passive voice.

1 did not trust anybody.

(A) Nobody was trusted by me.

(B) Nobody had been trusted by me.
(C) Nobody would be trusted by me.

(D) Nobody has been trusted by me.

AET-11

[ o 3

a9 3fed fawen gax F=feied gl &

oo (ve= S 21 9 45 95)

SR AR

21 9T A= {x 1 x + 4 = 4} Fr=foiaa
¥ 9 f59s gR1 Aeud fear S aedarn
g7
(A) 0 (B) ¢
(€) {4} (D) {0}

22. 90 A= {0, 1} 92 B={1,0},d1 A

25.

26.

. I A+ iB=

x B frages SRR ¥ ?
A) {0, 1), (1, 0)}

(B) {0, 0), (1, 1)}

(©) {0, 1), (1, 0), (1, D)}
(D) A x A

LR (2+42)%

(A) &9 TOTF

(B) eaR¥T dam ¥

(C) AT W &

(D) Tf = &
4+2
1-2i -

AT I R E?

(A) - 8 (B) 0

(©) 4 (D) 8

(1111), + (1001), — (1010), T &

WET & 7P

(A) (111), (B) (1100),

(C) (1110), (D) (1010),

3 FORR YEUT B PIRR A T

WS 159 HHe 10 R 8 ¥ a9,

S eAull 1 FHIR A1 e SRR

T

(A) 4

(C) 125

S =1, @

(B) 9
(D) 25
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27.

28.

29.

30.

31.

32.

33.

34.

3s.

FHEROT 12 + 2x — 143 =0F el &
T F AN T E P

(A) 170 (B) 180

(C) 190 (D) 290

A 5 P qoifep & AR 9 <dx—1<19
PGP F v a9 x FrefaRed
el W W (P UH B oo@dd ¥ ?
(A) {3. 4} (B) {2, 3, 4}

(€) 3,450 (D) {2.3,4,5

e OIS e gl weEA p S E,
S 1 990 gRT ! A9 & 7
(A) 9 (B) 11

(€) 33 (D) 99

(1 + )& YR ¥ 99 fgug ol &t
AR AT E P

(a) 27 (B) 27!

(€ 2! (D) T4 & &g 7&
A 3R B3 e 39 UHR & fF AB

= A 3R BA =B 9 B? fas TR
T

(A) B (B) A
O1 (D)-1

1 2 1 0
H%A:‘Z B‘Sﬁ’\TB‘I 0‘,a‘r

AB ¥ AR w7 & ?

(A) 0 B) 1
(C) 10 (D) 20
Aol STegE @1 Fgepa—

(A) FfT egE B ©

(B) faws wafig sieE B ®

(C) fawrl smeE 2 ®

(D) SR § W B &

AT TR 3x + Sy = 7 &% 6x +

10y = 18 7

(A) B T T T

(B) oM=< & &

(C) sfgda &1 &

(D) Tt & oRfT v & w1 &

frreferfag FoMl R R SIfvT:

I e wm A 10, 0-02 e 9 w9
B Bl

M. & 59 9 1 3fe9, 45° 9 31fee
B B

SRIFd B § DH—w/F TE B/E 7
(A) Tae |
(B) Baat 11

36.

37.

38.

39.

40.

41.

42.

(C) 1 7o 11 31
MaIDITARTE N

sin 15° sin 75° T A9 w1 8§ 7
'A1 Bl
) 5 ®) 3
CL 1
©) 1% (D)

1 o
II'f%cosec@—cot9=ﬁ BEREXA

A cos O BT AN T E 7P

J3

(A0 B) —

1
(D)ﬁ
AD : DC frgd ReR & ?

) 1
©) 5

A2+

o _2-53),
w
A d(ﬁ/ﬁ)

2+3)p

(A) (7-243): 1 B) (T-43): 1
(Cy1:2 (D) T 9 P8 T8
A 5l s & ] DT tan! 2 T
tan™ 3 B o TR PIOT T T P
(A) tan”! 2 (B) tan™' 4

T b
© 5 (D) 3

A (=4,2), B (0, 1) 3R C (3, 3) dnf
et Brgs @ kA 9T ¥ ?
(A) 7+3v2 (B) 10+5v2

(©) 11+ 62 D) 5+2

I IR @ (2x + 3y + 4) + L (6x —
y+12) =0, y-31& & TARR &, 79 A
B AM RT 8 7

(A)3 (B) -6

() 4 (D)-3

TADEROT ax? + by? + 2hxy + 2gx + 2fp
+c=08 a0, TP qq B e
PN, THP U F B P
(A)a=b3dR ¢c=0

B)f=gdR h=0

(Cya=b8R h=0
(D)f=g ¥R c=0



43.

WHT 4x2 + B2 = 144 B Iboal o1
¥ 7

V5 V5

5
(A) 3 (B) e
) 3 2
©) N (D) 3

L WEAAl x+y+z+1=08R 2 -2y + 2z

+1=03 T D P B DT TS ?

! !
(A) 3 (B) 3
2 . !
© 3 (D) &7 ¥ B T8
- TR Ay = Ax) ). TG ) T w0 1
B Fadl & 7
(Ayt + k (B) ct + £k
C)y i+ ¢ D) #

HAT—1I1

S mmew

FrferRed veT & Sax S & forvw waw sfua

e (we= <v=n 46 9§ 70 99)

I ghm |

46.

48.

TF o1 F 9 TN B o9 1°C T
ST & O SHhl a9 0.4% TG KT 8,
I 7 ARG A (Initial Temperature)
QT"_

(A) 250K (B) 2500K
(C) 250°K (D) 25°C
. IS SR B 1 97 ST AU I

&5 B AF e ' Y, 99 B w@
SITE—

(A) 8 T (B) 270
(C) 4T (D) 37
Teh 1 ¥Hiex o R 300Hz 1 gt 3Mgfi

| HF IR S| AR A R AR
P T T—

(A) 15071/
(C) 3001/

(B) 20091/¥
(D) 600 %1/¥

. 1.0 9Icx BT & U |Rdag 7 2.0

X B GEB &F A T TAD N
@R SggAT &1 AfFH Solt Bri—
(TSI B T@AM = 3.34 x 10727 fbam,
1A e = 1.6 x 10710 i)

(A) 96 MeV (B) 48 MeV

(C) 24 MeV (D) 9.6 MeV

50.

51.

52.

53.

54.

55.

56.

FI<TRe ufaRig e fdga dres 9 B
el U S 9 R 9781 Uy WiTs faan
ST & ST wRRie A Al afkh sttt
I afe—

(A)R<r (B)R>r
(C)R=r (D) R=0

1 dee IR gRT @Rd 89 WX Td
gorag NI ol <l el &, 9
Pl B

(A) 15[t (B) 1 getag—diee
(C) 13t (D) 1491

Pig 9 ogrA AR J qUEH T, 9 T,
T ARG B & (T, > T,) 39 U9H ¥
Fd FA BFM—

(A)Cp (T, =T, (B) Cy(T,—T,)
ORI -T,) DyLH

T fJu gy ok 6 aneef W I@ P
JOT A 9 TR B I A wwan
JMITH YITEACT (Isothermal Bulk
Modulus) B—

2
() 3P () P

© %P (D) 2P

I gl o TG § Tl aaed
5896A B Tl seggd B TR FHoll
e —(geiae &1 fIRM g9 m, =
9.1 x 1031 f&IT, £ =6.63 x 10734 J-5)

(A) 2.32x10%V (B) 2.32 x 10%eV

(C) 434 % 106eV (D) 4.34 x 106 eV
Th WEd B TR SHoll TP Wi b
Folt E & SRER € AR UreiH 6 & gren
T ), ST BIEA D ), &, AN SIgurd

L
(AYE® (B) E\2%
(C) B2 (D) E'®

faT e gRkaer # Aden B fgel @ d=
JoI RNy &—

TS A
B

o

8Q

6Q)

30Q

57.

58.

59.

60.

61.

62.

(A) 10Q B)3Q
(C)75Q (D) 0.5Q

U& 91 Hl Y Vg & <X b el
PIeX (Cavity) Bl I 5 @1 T oo
ST &, T PIeY 6l AaT—

(A) I (B) & &rm

(C) euRakfa B

(D) SHHT 3MbR F&el S
TS AT TR S FTIT 1:3:43
STUT & AT D TARA 5:3: 1D
U F ¥, D 9T TR 1 S1gurd
T

(Ay1:3:5 (B)5:3:1
(Cy1:15:125 (D) 125:15:1
el f&ATgfred gared o1 I 4 W)
qfepae R, T A9 £, OX Afehal R, B,
1 Sla emg Bf—

(AT g ,>1)
log,&
hip ‘R,
Ay — ¢ (B)
log, —L hiy
R,
Iy —t R
© 3= (D) tnlogt
LY R,
lo
2 R
2
TP P R & U BT arel S @l

TR x 31 39 fAwRa <) 3 afy &
T v B IR ARR g 1.5y IR
o Sme, &1 SR # &y @1 9 Am—
(A) 12 v (B) 0.61 v

(C) 1.50v (D) 0.75v

9ol IR URTaR 3, fob=oT 1 SHferas
et BTl (i, I~ BI0T A DRl
®)—

T .
(A) 5= (B) 2,

(C) m—-2i, D) m—i,

IRHT S dR b Yioxig H w1 gRad
B | Of g Broar aneh qen os
T g P & SR |

(A) T

(B) @13 gRacH & &

(C) A

(D) T wreng

. 9281 & URT: JOIHR el | TFhR eI

TP HHM SIUE B FA Sl (TS +
Rerfta) E, 31 59 Rearfae ot 38—
(A) -E, (B) 1.5E,

(C) 2E, (D) E,

TR | 3



64. TH PO TS 2743 -k @ aid foeg
(3, 4.5 g (-2, 6, — 4) TF oM
T 9 g™ fear et gm—
(A) 20 ATIH (B) 29 WEH
(C) 32 9B (D) I

65. TI9 SeIaeiT g Ulig U8 & I
ART &, AN JTA—TarRT & qROTHER a1
y B ST B B | IS Hied &
s B—
(A) 1.24 ¥ 1013 Hz (B) 3.25 x 107 Hz
(C) 1.24 x 1020 Hz (D) 3.25 x 10'° Hz

66.QEEEBUTE€[ﬁ€TﬁlGTWﬁU=%k(x2+
12) ¥ BT WX H R 9rel g B—
(A) —k(xit+ y]) (B) —i2kx— 2hy

© 0 (D) ~xi-yJ

67. 50 ¥ @ BoelaY & AN W AR
dIeH | T8 gpa 15 B BT §1 58
X 9 30 99 9 W g B—
(A) 3.24 x 107391
(B) 12.96 = 1073 {1
(C) 6.48 x 1039
(D) 3.24 x 1030

68. e | eI A 11.2 /A T g
@ g | A T§ B e 7 Hel
T M T 1/1081 B I TE W
T 9 B -
(A) 25 T /9. (B) 2.2 & I/4.
(C) 56 /4. (D) 5 /3.

69. g1 9TE ¥ R AT TR TH@ R TR0T B
HA AT | (R-GAT 1 PR, g —gedt

B W PR TR0
(A) g (B) 0
© & ) &

70. U 2 Hiex oW 9 1 T 2 ey sIe
G B R DI SR BT | TR
I T TE B 0.1 R, Siem A fear T
PRl B— (g y=2 < 101 =geA/9M 2)
(A) 0.5 [ (B) 0.05 <[
(C) 51033 (D) 5 x 10 5

English

1. (D) Unemployment, inflation,
crowding, dwindling resources and
pollution
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U S o

N

(D) oil and power generation

(C) land, water and air

(B) planned use of resources

(D) population, food and energy

(B) ‘with’ &1 Y@ Sfd &, F4ife I8
proper preposition |

(C) ‘RPQ’ &&r sequence%l

8. (B) ‘Insomnia’ &1 gy ¥, “31fg1’ =i

10.

11.
12.
13.
14.
15.
16.
17.

18.

19.

21.

22.

4Q T word group & forg W& fawed
&
(B) “Imprudent” (3fdaai/de) & forg
same word—"‘careless’—(@TUxdTg/
ST B YA 3T T
3 fadpedl & Trea—aref E—
Cautious—d /AL
Wise—g@ﬂﬁ/ﬁﬁ?ﬁ
Discreet—aTa &= @/ﬁﬁg{ﬂﬁ
‘Premium’—(@?@\[ﬁ/&mﬁl&ﬁ) Gl
opposite word ¥—Inferior—(fFF1/
CEREIEIIGaE L))
3 fapedl & Um—ardf E—
Superior-v&aR/aRkss/ 3
Choice—T9g /g9 /fadhed
Excellent—3Til S/ 2r5a/ SYH
(C) Physics
(C) one another
(B) whom
(C) preferable
(B) But
(A) Sheis so weak that she cannot walk
(A) “will work® & ¥ T ‘work”
TN BT, P if/unless/until/in
case/as soon as ¥ R B e clause
# future 31 B9 WX W future &,
eﬂﬁg simple present YT BT
(C) “the braves’ -T& ‘the brave’ BN,
eI FEIGY AT |
(C) 20.(A)
o
D) T A= {x:x+4=4)
(0}
(xt+td=4=x=0)
(D) A x B={0, 1} = {1, 0}
={(0, 1), (0, 0), (1, 1),
(1,0)]
qAMA x A= {0, 1} x {0, 1}
={(0,0), (0, 1), (1, 0),
(1. D}
et fF AxB=AxA

B

~—~

23. B) 2+2)2 =4 +2+ 42
=6+42
= I UH URAY HwE= %

442§
1-2i

24. (B) A+ iB=

4+2i>< 1+ 2;
1-2i 1+2

by 8i+ i+ 4
1- 442

4+10i—4
144
(o 2==1
=0+ 2i
(T FA W)
= A=10
(1111),= 1 x 23 + 1 x 22
+ 1 x2l+ 1 x 20
8+4+2+1=15
(1001),= 1 x 23 + 0 x 22
+0x 21 + 1 x20
=8+0+0+1=9
(1010),= 1 x 23 + 0 x 22
+ 1 %21 +0x20
=8+0+2+0=10
& (1111), + (1001), — (1010),
=15+9-10=14
I (14),, BT BUTIRI]

25. (C)

2|14
0
2131
1|1

(14),,= (1110),
26. (C) AFT T V& g T b Tl

far & ol A1 = 10

3 ab =10

=  ab=100 (D)
e W 8% e 2 =g

a+b
= 200=8 (a+h)
= a+b=25 (2)
a9l b Bl HHIIN HIY

B a+b
2



27. (D) THIGRTT 22 + 2x — 143 = 0% HA
o qAT BB, T
a+fpf=-2

b

(:atp=—2)

qq af= - 143 (v of = <)
a

g o + B2
=(a + By - 20B
=(-2)2 -2 (- 143)
=4 + 286
=290
28. (C) 9<4x—1<19
S 9+ 1<4x<19+1

@F TWE 1 ST W)

= 10< 4x < 20
= E<xS§
4 4

(4 B 9 T W)
5

= E<x£5
xS QI & o x = {3, 4, 5)
29. B) v 990=11 x 9 x 5 x2
o, § FA-9-9 11,9, 5 a1 2
PAETS Saey 8 |
VAN L1=11 %10 %9 x 8§ x 7 x
6x5x4x3x2x1H I™G &
W:W%W@Wn:
11 %1
30. B) & WM & 5 (1 +xy & YR H
Cp Cy. Cye...C,, TEUR UMD BEAT
gl
qAq Co+C+Cy+C3+..C, =2"
Cog+Cr+Cy+...

=Cy+Cy+..=2"!

3 IS |H fgug uTel & AT
= 2n—]
31. (A) faam gam ®
AB= A ..(0)
BA=B (D)
g B2=BB
TR (i) ¥
= (BAYB
TP (i) | -
=BA

TS (i)

=B
, 1 2|1 o
32. (A) AB= |, sl o
142 040
“2+3 0+0
3.0
“ls5 0

3
.~.ABzﬁrwfﬁrc5AB|=5 0‘

=0-0=0
33. (C) vl srege & Tuied 9,
gfg A = diag (a,. ay, a;), A9

A= dmg[L,L,L\
q @y d3
Feri] faol arege A &1 gopd 0
ol agE & B |

34. (A) AP & O |

. @ 31
R
h 5 1
b 10 2
a 7
R
&l b 4

T
35. (C) 1°= 180 feT=

314
- % YR
0-017 X

< 0-02 s
= 1° < 0-02 s

I BT | 98 B

1%:%%@

180 x 7
i &0

630
771%%

= 5727 (SR > 45°
=1 g > 45°
3T H 11 7 ¥l
36. (A) sin 15° sin 75°
1
= — - 2 sin 75° sin 15°
2
[+ 2 sin A sin B = cos (A - B)
—cos (A + B)]
. 75° — 15°
=3 [cos ( - )
— cos (75° + 159]

1
> [cos 60° — cos 90°]

_1 {L_O}zl
2 2 4

1

37. (C 0 —cot b= —=
(€) cosec co \/3
l—cosei 1

= sind /3
1—cosO 1

- Y
1-cos’0 \/§

[BFT TR® T &AW

1+cos>@—2co0sO l

1-cos’0 3

=3+3¢c0s20-6cosO=1-cos?0
= 2c0s20—-3cos0+1=0
= (2cosB—-1)(cosO-1)=0

1
= . c059=5?ﬂc059=1

38. (B) ™ ¥, AD = (2-/3)p @2 DC

= (2+\/§)p

AD  (2-B3)p
DC 2+3)p

_2-\3 2-3
2+3 2-3

443-443
4-3

_7-43
1

=AD : DC= (7-43) : 1

TR | 5



39. (C) T T¥RT DIV C & 9, S IOl

1 AT 180° BT
= tan” 2 + tan”' 3 + C = 180°
= tan_l(i] +C=tan! 0
1-2x3
. {tarfl x+tan”! y = tan’l(7x+}y\:|
: 1-xy
= tanl(- 1) + C=tan! 0
= C=tan! 0
—tan! (- 1)
C=0+tan' 1
T
= 0+ —
¢ 4
c= 2
4
40. (B) .~ Bryal & ¥ A(- 4, 2), B (0,
-1, CGB.3)E

AB =\/(x2 —x) +(n-n)?

= JO0+472 +(-1-2)

= J16+9
=425 =5
TN YBR BC

= J3-0+(3+1)
= J9+16 =5

qM CA= J(~4-3)7 +(2-3)

= J49+1
=50
=52
- A gRAY
=AB+BC+CA
=5+5+5J2
=10+52
41, (A) VR Y@ (2x+3y+4)+ A (bx—y
+12)=0
=Sx2+60)+yB -0+ 4+ 124)
=0
T, y—376T B AR & 31T g
@lel = oo
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(2+63) 1
3o 0
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